
Note: the best way to study for the tests is to:

-Start by reading the slides and writing them in your notebook.
- And then answer the weekly questions.

Reserve some hours (perhaps 4) every week to answer the questions. If you answer them properly, then you’ll need to study much less before for the tests. Students who choose not to answer the weekly questions seldom pass the course.

The answers of this week’s questions should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.
Please write WEEK 13 in bold at the beginning of your answers.

Week 13: The effects of deflation (closed economy)

I.One answer

1.What is deflation ?

2.  What’s the argument according to which declines in nominal wages in response to unemployment tend to reduce it?
3. If nominal wages fall in response to U, firms will hire U workers because these become cheaper.

4. Using a numerical example, illustrate that a firm faced with idle machines may increase its profits if the cuts the price at which it sells its goods.

5. Why has U had a different impact on nominal wages since WW2 compared with before WW2?

6. Why may U have had a bigger negative effect on profit margins before WW2 than after WW2?

7.  If lower prices increased AD, which measures could govs implement to enhance the ability of market mechanisms to reduce U?
II. Second answer

8. If the prices of all gods and services fall, aggregate nominal income will necessarily fall by the same proportion. Why?

9. “If all goods and services become cheaper, the purchasing power and thus AD will rise.” Do you agree? Explain.

III. Reasons why many economists believe that ↓ P => ↓ AD.

10. If the price a good falls, then its demand rises.

a) Why?

b) Why doesn’t the same happen when the price of all goods falls?

11. Leave aside all the other effects of falling prices. “If prices fall by less than nominal wages, then consumption rises”.  Do you agree? Explain.

12. a) According to the Pigou Effect, falling prices may contribute to reduce U. why?

b) What’s the problem with that argument?

13. a) According to the Keynes Effect, falling prices may contribute to reduce U. why?

b) What’s the problem with that argument?

IV. Five reasons why ↓P => ↓AD

14. Indicate the various ways in which economies rely on debt to function.

15. a) Explain why a decline in prices leads to a transfer of wealth from debtors to savers.

b) Why do debtors tend to have a higher propensity to spend out of wealth than savers?

c) What’s the effect on unemployment of the transfer of wealth mentioned in a)? Explain.

16. a) Explain why a decline in prices leads to a transfer of real income from debtors to savers. 

b) “A decline in prices leaves nominal interest payments unaffected.” Do you agree? Tell what happened during the GD in this respect.

c) Why do debtors tend to have a higher propensity to spend out of income than savers?

d) What’s the effect on unemployment of the transfer of real income mentioned in a)? Explain.

17. Explain what happened during the GD to many US farmers who in the previous years had bought land and capital goods with loans.
18. Why do falling prices tend to increase the number of households and businesses unable to meet their debt services?

19. Falling prices lead to apprehension in the credit market. Apprehension by whom? Why?

20. What’s the consequence of that apprehension on output and prices? Explain.

21. a) In which ways does declining real output tend to increase the apprehension in the credit market? Explain.

b) In which ways does declining prices tend to increase the apprehension in the credit market? Explain.

22. A decline in new loans may or may not lead to a decline in the amount of NOMINAL outstanding debt. Why?

23. Observing what was happening in 1929-33, Irving Fischer concluded: “the more debt debtors pay, the more they owe”.


a) What did he mean?


b) Explain the economic mechanism that led to Fischer’s observation.






…

24. What’s the implication of a relatively small number of non-performing loans on banks’ balance sheets? Explain

25. a) Explain how banks solve their problem.

b) What is the consequence for the economy?

26. a) What will be the implication of a large number of non-performing loans on banks? Explain.

b) And on the respective depositors? Explain.

27. Explain how in the Great Depression the failure of some banks caused by non-performing loans soon led to the failures of other banks without significant non-performing loans.

28. Some bank failures may reduce the availability of credit to many businesses – even if most banks in the economy remain healthy. . Why?

29. Why does the expectation of falling prices over the next years may lead to the postponement of purchases of durable goods?
30. Why does the expectation of falling prices over the next years may lead to the postponement of investment projects?
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